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Z 1= 2 2 = Z o = % 4 = Z 5 = % 6 = ZE 7 =
1F fi# N3 1F fi# N 1F fi# N 1F fi#

% 1 2 8 1 2 8 1 3 8 1 4 8 1 2 78 1 1 78 1 2
%8 2 2 %8 2 1 %8 2 3 %8 2 3 fzE 2 4 8 2 1 ffzE 2 3
fzE 3 1 %8 3 4 %8 3 4 %8 3 1 %8 3 2 ffZ8 3 4 78 3 2
%8 4 3 %8 4 2 %8 4 2 %8 4 2 %8 4 2 8 4 3 Rz 4 3
%8 5 4 %8 5 4 %8 5 4 %8 5 4 %8 5 1 ffZ8 5 3 78 5 4
%8 6 3 %8 6 1 %8 6 1 %8 6 3 %8 6 1 28 6 2 ffZE 6 4
feE 7 2 %8 7 4 feE 7 2 %8 7 1 8 7 3 fzE 7 2 fizE 7 3
%8 8 4 %8 8 4 %8 8 1 %8 8 2 %2 8 2 28 8 2 ffzE 8 2
%8 9 4 %8 9 2 %8 9 4 %8 9 4 %8 9 3 78 9 2 78 9 3
RieE 10[ 2 g8 10| 4 RieE 10[ 2 Riz8 10| 2 RizE 10[ 3 fied 10[ 4 ieE 10] 4

fRE 11 1 fRE 11 3 RRE 11 3

fRE 12 4 fRE 12 1 RORE 12 1

fiizE 13 4 fiizE 13 4 filzE 13 4

fil%E 14 1 fil%E 14 4 fEiRE 14 1

fHizE 15 1 fHizE 15 2 filzE 15 4

%8 16 1 %8 16 3 %8 16 3

fRE 17 2 fRE 17 4 RORE 17 4

%8 18 3 %8 18 1 %8 18 3

fRE 19 4 fRE 19 3 RARE 19 1

ffid 20 3 %2 20 2 %8 20 4




